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A 10674 19,704,300
1 [2019-08-02 | FALFX| HFFZ FA &2 245 7t 54,000
2 [2019-08-02|H=ZEHF FEIFA A AH 7tE 201,000
3 [2019-08-02|AHF 2 & mtet2 st d=AMAH FX| ZHE 7tE 45,000
4 |12019-08-02 [AHH EHA| A e Zhstaror 2 ZHE 7tE 245,000
5 |2019-08-02 |2t&etM 5} grot =of ZHE 7tE 287,000
6 [2019-08-02|CA|E2H = o|O|X| XM Dok 2k ZHet 7tE 115,000
7 |2019-08-02 | A EHX| FoF 2HM 5 grob 2k ZHE 7tE 112,000
8 |2019-08-02|F2A|Hol t st Al Ol Erof gfot Zb 4 ZHE 7tE 318,000
9 |2019-08-02 | A M UM S =2 E 9| AKX} ZHE 7tE 148,000
10 | 2019-08-07 [o{HIIZHF FZI 2 AH 7tE 36,000
11 [ 2019-08-07|7| S=&e| HFF& 2 245 7tE 251,000
12 |2019-08-07 |E2YUF FZA A2 Ay 7tE 293,000
13 [ 2019-08-07 | A= 23t & = E st A= 2HAH K} 2HE 7tE 93,500
14 | 2019-08-07 |AlY M Utst =9l E ¢|et 7at7| 2 ZHE 7tE 90,000
15 | 2019-08-07 | SX|AIZX| O s A~E 2| §F 2l od Algkob 2 ZHet 7tE 134,000
16 [2019-08-07 |t El AX2| HES 9ot Clafot A/ F Il dfot Zh ZHE [FtE 453,000
17 | 2019-08-07 |Al 212} e|6t= A™E MY 2gerot =2of ZHE 7tE 70,000
18 | 2019-08-08 |5 UF X =70l ptetE =9 & 2| 5F ZHE 7tE 88,000
19 | 2019-08-08 | = 7tof| pAtetE B M A S 2ALY =H|SHE ZHE 7tE 10,500
20 | 2019-08-08 | F & otAIAof T 5t =7 }oi| A =HE ghob ZHE 7tE 45,000
21 | 2019-08-08 |7 7t0i| o st =29 5! FALFX| &M 3 ghok ZHE 7tE 60,000
22 12019-08-08 [ 7}0i| & CH S A Al &l S 9 $F ZHE 7tE 17,500
23 | 2019-08-08 |3 7}0i| At StE dot =9| ZHE 7tE 17,000
24 1 2019-08-08 | HUst =M ets 9|t gtob Zb ZHE 7tE 100,000
25 1 2019-08-08 | M A E SHAIY 7| E ¢/t 2ot 27 Z2HE 7tE 133,000
26 | 2019-08-08 |7 I7IAM E 2 AEH FAFX| 245} ghot ZHE 7tE 72,000
27 12019-08-09 |7 7tAM EE{AH FXARA oleV| RAIE 98 2HE 7tE 56,000
28 [2019-08-10 |2 & OIAHE AFFTEAM 2@ 25 7tE 60,000
29 12019-08-10 |HAte| FEFEIFM 2 245 7tE 60,000
30 |2019-08-10|HEIO| ZZ 22| FFFF A A4 7tE 70,000
31 |2019-08-10|S A = 7CH ;& Atd|Z Q1 AF MIA 7 AF BHatol| o2 AAN S |7tE 739,000
32 1 2019-08-10 |X| 5 obALRd F &l 2td = 7tod| A =hE gkot 2HeE = 100,000
33 |2019-08-10 =& Al dt= 3 A S ek ulets 2| st 2hA X} ZHE = 73,000
34 12019-08-10 = 7toi| At = F &k mjets ¢ st 7HE = 52,000
35 12019-08-10 |2 && 2l 7 7tof A st dkot =9 Ziet 7te 24,000
36 |2019-08-10 &L FLEMAL FXIS 2|t AN | & ZHE = 165,000
37 12019-08-10 Al 2I0| EA = MEA| & aHE7| dok Zh ZHE = 408,000
38 | 2019-08-10 M AMM =tE & 2|5t ZHA X} ZHE = 163,000
39 |2019-08-10|X|H7tsst s 7|8t 52 ot 2ot 2HE = 121,000
40 | 2019-08-13|m7IMZFEHAH HFFZ FA A = 68,000
41 [2019-08-13 |7 7IA ZE 2 AE FARA| 2|8V RX|E @Ist 2HE = 69,500
42 | 2019-08-16 |H|MA LU NS =27 = 434,900
43 | 2019-08-16 |2t F AZ 2 E /st 7|H = T8 = 1,500,000




8 AR} 2 HpH FH ()
2019-08-18 | AT FEIFAM &gl A= te 52,000
2019-08-18 M 743 =& A FAl0 e Hd=3[J0te| ZHE te 300,000
2019-08-18 | 7| Fxlgtot 7 ZHE te 60,000
2019-08-18|ots B A AZUEA| =M S 2[5t 2tE = 293,000
2019-08-18 |AlBIES Al o] TAIZ)etS 2|5t gtot Zh4 ZHE FtE 398,000
2019-08-18|F 28 oF Aldof Ch$t =70 A 22 E 2|5t ZHE FtE 111,000
2019-08-18|=7lof Mt F F &k ojetS 2|5t ZHE te 61,000
2019-08-18 | 710f & M ALY 2= S 2|5 ZHE te 53,000
2019-08-18|=7}0i| bt S S =X A RX|IE 918 2HE = 103,100
2019-08-19|=7IM EE|AH FXRA oaV|d RAIE 9Iet 2t = 60,000
2019-08-20 |2 & A Z=AIH| X|&(D** 21H =) 100,000
2019-08-20 |AHHS|AU T Al =M S |5+ ZHE = 164,000
2019-08-20 | At2| FEgtot 27 ZHe 7tE 144,000
2019-08-20 |X| 3 AKX Mot FXI ZHe = 212,000
2019-08-20|Am Ql Lz SHECE TS0 2 AKX AAH S |7tE 465,000
2019-08-20 | &M et SHE 9| oF ghob Zh+ ZHet FtE 200,000
2019-08-20 [AlS| M AN 2N s} grok Zh ZHE FtE 246,000
2019-08-20 |ot=&lst = A| F+=ukob 2k Zhet FtE 330,000
2019-08-22 [ M 2| HF FEFAM 2 AH FtE 56,000
2019-08-22|7t2F ZHUTF FRFEAM &gl 25 ite 30,000
2019-08-22 |7t =2-YH|HF FXIFM A 245 FtE 43,000
2019-08-22|'c0l0o| oM 5t0 Hotst =A| =M S 9| 8h ZHE FtE 48,000
2019-08-22 | = 7of| At CH EX| Al XIS st A X} ZHE FtE 52,000
2019-08-22 |2 88Xl =7}of Ak St dbot ZHE FtE 100,000
2019-08-22 | = 7}0i| At S &kufet S 2| &k ZHE FtE 12,300
2019-08-22|5tolel xz|gtot Z 5 2|5t ZHet ItE 32,000
2019-08-23 | 7tA ZES{AH HAFFR M A 7tE 45,000
2019-08-23 | = 7IAM ZEZe{AE HEFT FA 2 FtE 28,000
2019-08-23 | 7tAM ZES{AH HAFFR M A FtE 30,000
2019-08-25 | &AM F A &2l 245 FtE 60,000
2019-08-25|A|ME 22| 2 ollotl HeldE Ay FtE 325,000
2019-08-25|=& 2| AFF=T FM A 25 7tE 135,000
2019-08-25 & 2l O AL =3 7 ¢ FtE 450,000
2019-08-25|AM50l X[l FA &gl A= FtE 60,000
2019-08-25|2 2% 0l S&tutet g =2 A E 9sh 2HE Fte 60,000
2019-08-25 [HALZ3t LAl =M S 2|8F ZHE 7tE 222,000
2019-08-25 |H| EE =AM 1to| ksl ZtA | Aol 2 Ald| X| = 7tE 495,000
2019-08-25|=7t0i ptatE B S EALY =22 9 2HE 7tE 44,000
2019-08-25|= 710 &AF =t & FXL7X| &4 35} gfol =9 ZHE Fte 200,000
2019-08-25|=7}0i| Ate| oM™ S dlbob ZHet Fte 110,000
2019-08-25|X|} ST K| ot ZHE 7tE 25,000
2019-08-26 | Al Z4H etA stdror ZHE 7tE 273,000
2019-08-26 | A EHX| 2 oF & starot b ZHE Fte 90,000
2019-08-26 XSt wE2td =M S 9|8 2HE Fte 205,000
2019-08-26 |LH 224 5! Y F 3ol E flet 7IE&E 7 ¢ e 1,800,000
2019-08-26 |LH 224 3! Y F 3ol E flet 7|E&E 7 ¢ e 700,000
2019-08-27 |F ALY S A FX L o MatH 5 AEHEE S SY7t= 800,000




oded | FBAR} 2 HpH FH ()

91 |2019-08-28 | 7IAM EE{AEH FXRR oleV| RA|E 9&t 2HE = 75,000
92 [2019-08-29 |2tF| M2zt FRIFA &gl 245 7tE 84,000
93 |2019-08-29|= &%l ClglXe|E 9et ZHE = 42,000
94 | 2019-08-29 (At OllH 2 X2| = 2l 22 7te 72,000
95 | 2019-08-29 ¥l ™ FAIS 25t ZHE FtE 184,000
96 | 2019-08-29 |2l W =tcf gtot 4 ZHE te 319,000
97 [2019-08-29 Al ALY 2 MzEt= S 2| oF ZHE 7= 244 000
98 [2019-08-31 |X|HUE8 ol -2 Fxlukot ZHEt 7tE 224,000
99 [2019-08-31 |H|MA! A= X2l 2 g te 64,000
100 [ 2019-08-31 [cctv A=Al 2 EAM A2l 22 7tE 48,000
101 | 2019-08-31 [& &l ZZ=AMH| X|E(ZD+* 21H) ) 250,000
102 | 2019-08-31 |Al Y T3 ALY =2| & @t ZHE = 221,000
103 | 2019-08—-31 [tX AlTD Zh=4dbot =9| ZHEt = 72,000
104 | 2019-08—-31 |=7}oi| AF 2tH =9 ZtEt 7te 14,000
105 | 2019-08-31 | 7}0i| Ate| oM™ =t dbob ZHet 7te 127,000
106 | 2019-08-31 | = 7}0i| At CH SH| Al =t S 2| st ZHE FtE 130,000
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